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This diagram did not have FBG. It have 2 pump which are pump 980 and 1480nm. From parameter EDF 

the length is 4m and from CW Laser, the frequency range is 1500nm to 1550nm and the power is -

50dBm to 10dBm.  
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Result  

 

For 10mW pump power. 
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For 50mW pump power 
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This diagram have FBG. It have 2 pump which are pump 980 and 1480nm. From parameter EDF the 

length is 4m and from CW Laser, the frequency range is 1500nm to 1550nm and the power is -50dBm 

to 10dBm. 
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For 10mW pump power 
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For 50mW pump power 
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For 80mW pump power 
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Diagram below have no FBG. It has transmitter and receiver. 

 

10mW pump power 
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Diagram below have FBG. It has transmitter and receiver.  

 

 

10mW pump power
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